Chapter 9: Linear and Quadratic Inequalities

9.2 Quadratidnequalities inOneVariable

A quadratic inequalities in one variable can be written as:
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Wherectihanddare constants and 0.
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When solving a quadratic inequality in one variable, there are more than one method you can use:

graphing or test point chart.
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Example 1: Solveo w p¢ ™

Stepl: Rewrite the inequality as a quadratic equation and finadts.
X5>-2—1A=0

(x-D(xt3)=0O
=4, ">
** These are critical points to solve your inequality **

Step 2: Use the roots to sketch a graph of the quadratic function.
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Step 3: Use the critical points and your inequality sign to shade the appropriate region on a
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number line.
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Step 4: Write the solution to the inequality in set notation.

fx|-34x 24 xeR 3

q



Chapter 9: Linear and Quadratic Inequalities

Example 2: Solvew uvw ¢ T
Step 1: Rewrite the inequality as a quadratic equation and find its roots.
2X7-5¢ —3=0
(214] ')(’X,'\?;) - O
2xtl=o \ 1= 3

=%
Step 2: Use the roots to complet the foIIowmg chart

-V, “s 2 (2 ,00)
Interval ‘)C, <..l/2 _(/L<—L<3 34X o X D>
Test points X = -\ L= 2 xX = q
Substitution b (-VZT_5(-D-3 [2(2)y*-S(2)-3 2(A*-52)-3
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Step 3: Use the critical points and your inequality sign to shade the appropriate region on a

number line.
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Step 4: Write the solution to the inequality in set notation.

f?(/\ Ly AT D xR

Example 1 used graphing to find the solution to the inequality and Example 2 used a test point chart to
organize the results. Which methdad you prefer? Why?
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Example 3: Solve o o w p using a method of your choice.
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2 X —3 =0
(xX+1) (2= 3)=0 /K
3xtl=0 X 7370 A\ A
7":—1’3 = 3
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Example 4: Erik submitted the following number line as a solution to his quadratic inequality. What
inequality was he solving?

2= X= S é
x+ =0 L-5=0 .5
A\
(xt1D (=95) /xﬁt‘}xﬂfSZO
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